ghipsmall

Chipsmall Limited consists of a professional team with an average of over 10 year of expertise in the distribution
of electronic components. Based in Hongkong, we have already established firm and mutual-benefit business
relationships with customers from,Europe,America and south Asia,supplying obsolete and hard-to-find components
to meet their specific needs.

With the principle of “Quality Parts,Customers Priority,Honest Operation,and Considerate Service”,our business
mainly focus on the distribution of electronic components. Line cards we deal with include
Microchip,ALPS,ROHM, Xilinx,Pulse,ON,Everlight and Freescale. Main products comprise
IC,Modules,Potentiometer,IC Socket,Relay,Connector.Our parts cover such applications as commercial,industrial,
and automotives areas.

We are looking forward to setting up business relationship with you and hope to provide you with the best service
and solution. Let us make a better world for our industry!

Contact us

Tel: +86-755-8981 8866 Fax: +86-755-8427 6832
Email & Skype: info@chipsmall.com Web: www.chipsmall.com
Address: A1208, Overseas Decoration Building, #122 Zhenhua RD., Futian, Shenzhen, China

iy [0



‘ 3 2 |
EIES BE "= e 0=
S No. PART NAME aty. MATERIAL ARTICLE
S N _ JeJ9J)L 1)L TILEZOLE® F
& POLL;EGﬁ@%&é?ﬁHOUSWG 0.8 2| @ RECEPTACLE SHELL | | A UMINION ALTOY
S § > )N = TN\— “RUJJLTA
2 @ UPPER RUBBER | NBﬁ
‘ = OJ— /3~ —RJILTA —
C;% / @ LOWER RUBBER i I er
<o [ @) LB o S==FL |, B N iXvF
SO ( h ‘RJEJEE;FACLSLGROUND TEFJ%MINAL BRASS - NI PLATING
== 57 vy A7 L
= @ RECEPTACLE LOCKING PIN 2 |STAINLESS STEEL
E 2 )—7 A7 L E
@ SLEEVE 2 |STAINLESS STEEL
—_— (JREEEIHAATRAL (M2.5X6) 5 N i Xy
CROSS RECESSED HEAD SCREWS 4 |t o
''''' B 7'776 it o @ WITH SPRING WASHER (M2.5x6) STEEL NTPLATING
— 0 (FREEHHAA T Z 1L (M3x5) 58 Ny
FREE DRIVE HEAD SCREWS 2 |t A
WITH SPRING WASHER (M3X5) STEEL NIPLATING |
SNJL MNIT2F)L
% @ LABEL | | PoivESTER
| i
SRS —
= I ’
AN
35 o
JTaC s
NOTES; o I
| ER/ N\ TEI—==T)L
APPLICABLE HOUSING AND TERMINAL
H BN T BEI—=F/L il EH [Hg ! EH
APPLICABLE HOUSING APPLICABLE TERMINAL 7
ENDUT _ 56 |18-8xxx
o PIN HOUSING 500812~ 1000 56 |19-8#**x ¢
-
M N
VT YNNI T . 2612078xx+
SOCKET HOUSING 500813~ 1000 56 |2 |-8**x
PEV—TJ&T [ : 2. M3 RUHEEROIITNLT ¢ 5~6kgf-cm
PE MARK IDENTIFICATION M3 SCREW RECOMMENDED TIGHTENING TORQUE —
3,/ SRILPVELUSTAIT, DWG No. SD-500811-00 1 (ZX2, _ _
THE PANEL CUTOUT SIZE IS SHOWN IN SD-500811-00 I % %
4. 8BRS NEEHRT
APPLICABLE CRIMP TERMINAL FOR GROUND N
TR BN NI EDSBR T A CEAL T &R T 2 5H, B
R%NG TERN’A\I%L FOR POWER WIRE SIZE OR BIGGER ONE. B 500809-0010 500809-00%0
5. @8I J\— 2 500914-000 | - -
APPLICABLE DUST COVER : 500914-000 | A ©00803-0000
TYPE MATERIAL NO. MODEL NO.
DIMENSIONS: SHT‘ REV
r~ o GENERAL TOLERANCES: SCALE DESIGN UNITS mm INCH mm
o S < |Tm < HAGERIAL (UNLESS SPECIFIED) —~—| mmm Omen|© ;:éRJDEcéTSEE Diven Hmm Bony EigISOENLOYN
= S “4% s od= = 2R T DRAWN BY & DATE
= 5S35 |59=27 |8 SEE TABLE 1p SNOER 0.2 , 03/06/25| T1TLE
= S L2008 LN : MINI ROBOT CONN. 40P
O = — =1 CHECKED BY & DATE
08T |neTrNE 1o QVER 3 UNDER |,q 55 ) RECEPTACLE SHELL ASS'Y
u o g <=5l0 % <=5l ENES’ Mk x & \J 03/07/02
2 o< = APPROVED BY & DATE N A
C I T L I T o e b o 303 05 " 0n " ewer] ©> MOLEX INCORPORATED
El o2 R oExf| oEIf|E oZiE|YoZ IR |MRERANGE .. |CAD FILENAWNE WATERIAL N0, |DRAWING WO. SHEET NO.
g 0o o< 08 o< == Do =X 2855 < R E R &SR —— ANGLE AE +3 SD-500803-001.S0 | SEE CHART SD-500809-00Q | | OF |
o < S) S| NS, RANGE THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX SIZE
a wENE INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION. B

8 7 6 5 4 3 5 ‘ EN-02J(D97) MXJ-54



	Contact us

